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. Winter visitors are extre

. Two Wharton professors analyzed |

1. Approximate the following binomial probabilities by the use of normal

approximation. Twenty percent of students who finish high school do
not go to college. What is.the probablhty that in a sample of 80 high
school students

(a) exactly 10 will not gol
(b) 70 or more will go to

Ed

Florida. Hotel occupancy 1s°an reported measure of visitor volume
and visitor activity. Hotel occupancy data for February in two
consecutive years are as-follows.

hY

Current Year Previous Year
Occupied Rooms 1470 1458
Total Rooms 1800

(a) Formulate the hypothesig
has been an increase if
one-year period. Using | :
hypothesis test conclusion? ( 10%)

(b) What is the 95% confidence interval estimate of the change in
occupancy for the one-year period?<Do you think area officials
would be pleased with the results? (10%)

n be used to determine if there
ion of rooms occupied over the
of significance, what is your

234 putts by golfers on the
lour and found that 983,764 of
the putts were missed. Further

Professional Golfers Association (PG
the putts were made and @9:r
analysis showed that for 1:"“° j ¢ made, 64.0% of the time the
player was attempting to alte putt and 18.8% of the time the
player was attempting to make a birdie putt. And, for putts that were
missed, 20.3% of the time the player was attempting to make a par putt
and 73.4% of the time the player was attempting to make a birdie putt.
(a) What is the probability that a PGA Tour player makes a putt? (5%)

(b) Suppose that a PGA Tour player has a putt for par. What is the

probability that the player will make the putt? (5%)
(c) Suppose that a PGA Toyr-pla! a putt for birdie. What is the
probability that the playdrwil @e the putt? (5%)
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4. The Global Business Travel Association reported the domestic airfare

for business travel for the current year and the previous year. Below is

a sample of 12 flights with their domestic airfares shown for both years.

Use a 0.05 level of significance and test for a difference between the

population mean for the e d the population mean for the
previous year- (10%) ﬂ :
Current I&k&@ﬁd USurrent Previous
Year ~ Ye ear Year

345 315 635 585

526 " 463 710 650

420 462 605 545

216 206 517 547

285 275 570 508

405 432 || & | 610 580

L_J | S—

5. Multiple regression ana
between a dependent vari

involving 20 observations.

ed to study the relationship
hree independent variables X,

Coefficient Sta‘ndard
Error
Intercept 20.00 5.00
X 15.00 3.00
X, 8.00 L
X3 -18.00

Analysis of Varian¢

Source DF SS MS F
Regression  ? ? 80 ?
Error 320

(a) Fillin all the blanks in the above ANOVA table. (4%)

(b) Compute the coefficient of,

ination. (5%)

(c) Perform a t test and 'det
significantly different
(d) At a=0.05, perform

1911}

N

hether or not By,f,, B3 are
ero(io=0.05). (6%)
determine whether or not the
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regression model is significant. (5%)

6. According to Thomson Financial, through January 25, 2006, the

majority of companies reported profits had beaten estimates. A sample

of 162 companies showed t estirhates, 29 matched estimates,
and 29 fell short. 5 ‘
(a) Determine the margi error [and provide a 95% confidence ™

interval for the propor@ 1_%5 beat gstimates. (5%)
(b) How large a sample is needed 1 esired margin of error is'0.05?

Use a = 0.05. (5%)

-~

7. Two different designs on a new line of winter jackets for the coming

winter are available for your manufacturing plants. Your profit (in
thousands of dollars) will depend on the taste of the consumers when
winter arrives. The probabiti tire hree possible different tastes.
of the consumers and the torrgsponding profits are presented in the

following table. []—]
 m—

Probability Taste é '——-_-EJJ@ E,é on | Design
— B
0.2 more 180 520
conservative ,
0.5 no change 230 310
0.3 more liberal 350 270

(a) What are the expected valueland §
when Design A is chos sﬁ'

(b) What are the expected yaluea
when Design B is chosen,

(c) Compute the correlation
Design B. (5%)

afdard deviation for profit

dard deviation for profit

eht for the profits of Design A and
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i1 z5R . ,
. P(0<Z<z)=a. 0 Z
z 0.00 | 001 | 0.02 | 0.03 |—-()04 [ 0051 0.06 | 0.07 | 0.08 | 0.09
0.0 | 0.0000 0.0040 0.0080 . 0.0199 0.0239 0.0279 0.0319 0.0359
0.1 |0.0398 0.0438 0.0478 0.0636 0.0675 0.0714 0.0753 |
0.2 {0.0793 0.083Z 0.0871 0.1026 0.1064 0.1103 0.1141
0.3 |10.1179 0.1217 0.1255 0.1406 0.1443 0.1480 0.1517 |
0.4 | 0.1554 0.1591 0.1628 36 0.1772 0.1808 0.1844 0.1879
0.5 | 0.1915 0.1950 0.1985 88, 0.2123 0.2157 02190 0.2224
0.6 | 02257 02291 0.2324 0.2357 0.2389 02422 0.2454 0.2486 0.2517 0.2549
0.7 1 02580 02611 02642 02673 02704 02734 0.2764 02794 0.2823 0.2852
0.8 | 0.2881 0.2910 0.2939 0.2967 0.2995 0.3023 0.3051 0.3078 0.3106 0.3133
0.9 | 03159 03186 0.3212 0.3238 0.3264 0.3289 0.3315 0.3340 0.3365 0.3389
1.0 103413 0.3438 03461 0.3485* 0.3508 0.3531 0.3554 0.3577 0.3599 0.3621
1.7 |0.3643 03665 03686 03708 0.3729 0.3749 03770 0.3790 0.3810 0.3830
12 [ 03849 0.3869 0.3888 0.3907 0.3925 0.3944 0.3962 0.3980 0.3997 0.4015
1.3 | 0.4032 0.4049 0.4066 0.4082 0.4099 0.4115 0.4131 0.4147 0.4162 0.4177
1.4 | 04192 04207 0.4222 5 0.4279 0.4292 0.4306 0.4319
1.5 |0.4332 0.4345 0.4357 0.4406 0.4418 0.4429 0.4441
1.6 | 0.4452 0.4463 0.4474 0.4515 0.4525 0.4535 0.4545
1.7 1 04554 0.4564 0.4573 0.4608 0.4616 0.4625 0.4633
1.8 | 0.4641 0.4649 0.4656 0.4686 0.4693 0.4699 0.4706
19 | 04713 0.4719 0.4726 0.4750 0.4756 0.4761 0.4767
: 20 | 04772 04778 0.4783 0.4803 0.4808 0.4812 0.4817
2.1 [0.4821 04826 0.4830 0.4834 0.4838 0.4842 0.4846 0.4850 0.4854 0.4857
2.2 {04861 0.4864 0.4868 0.4871 0.4875 0.4878 0.4881 0.4884 0.4887 0.4890
2.3 {0.4893 0.4896 0.4898 0.4901 0.4904 0.4906, 0.4909 0.4911 0.4913 0.4916
2.4 (04918 0.4920 0.4922 0.4925 0.4927 0.4929 0.4931 0.4932 0.4934 0.4936
2.5 [0.4938 0.4940 0.4941 0.4943 0.4945 0.4946 0.4948 0.4949 0.4951 0.4952
2.6 [0.4953 0.4955 0.4956 0.4961 0.4962 0.4963 0.4964
2.7 [0.4965 0.4966 0.4967 0.4971 0.4972 0.4973 0.4974
2.8 [0.4974 04975 0.4976 0.4979 0.4979 0.4980 0.4981
2.9 104981 0.4982 0.4982 0.4985 0.4985 0.4986 0.4986
3.0 [0.4987 0.4987 0.4987 0.4989 0.4989 0.4990 0.4990
3.1 [0.4990 0.4991 0.4991 0.49 49 0.4992 0.4992 0.4993 0.4993
- 3.2 104993 0.4993 0.4994 ’ 0.4994 0.4995 0.4995 0.4995
3.3 [0.4995 0.4995 0.4995 99 \ 0.4996 0.4996 0.4996 0.4997
3.4 [0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4998
- 3.5 104998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998
—1
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0.25] 0200 015 o.10] Vs ;op3sil 0.02] 0.01] 0.005] 0.0025] 0.001] 0.0005
1.000 1376 +1.963 3.078 § 890 31.820 63.660 127.30 318.30 636.60

0.816 1.061 1.386 1.886 ‘ ; 4849 6.965 9.925 14.090 22.330 31.600
0.765 0978 1.250 1.638 2 18 482 4541 5.841 7.453 10.210 12.920
0.741 0941 1.190 1.533 2999 3.747 4.604 5.598 7.173 8.610

0.727 0.920 1.156 1.476 2757 3365 4.032 4773 5.893 6.869
0.718 0.906 1.134 1.440 1. . 612 3.143 3.707 4317 5.208 5.959
0.711 0.896 1.119 1.415 1.895 2365 2.517 2998 3.499 4.029 4.785 5.408
0.706 0.889 1.108 1.397 1.860 2306 2.449 2.896 3.355 3.833 4.501 5.041
0.703 0.883 1.100 1.383" 1.833 2.262 2398 2.821 3250 3.690 4.297 4.781
0.700 0.879 1.093 1.372 1.812 2.228 2359 2.764 3.169 3.581 4.144 4.587

S %D A N S

11 0.697 0.876 1.088 1.363 1.796 2201 2328 2.718 3.106 3.497 4.025 4.437
12 | 0.695 0.873 1.083 1.356 2.681 3.055 3.428 3.930 4.318
13 | 0.694 03870 1.079 1.350 2,650 3.012 3372 3.852 4.221
14 | 0.692 0868 1.076 1.345 2.624 2977 3.326 3.787 4.140
15 | 0.691 0.866 1.074 1.341 2,602 2.947 3.286 3.733 4.073
16 | 0.690 0.865 1.071 1.337 2.583 2.921 3.252 3.686 4.015
17 | 0.689 0.863 1.069 1.333 2567 2.898 3.222 3.646 3.965
18 | 0.688 0.862 1.067 1.330 2.552 2.878 3.197 3.611 3.922
19 | 0.688 0.861 1.066 1.328 2.539 2.861 3.174 3.579 3.883
20 | 0.687 0.860 1.064 1.325 2.528 2.845 3.153 3.552 3.850

21 | 0.686 0.859 1.063 1.323 2,518 2.831 3.135 3.527 3.819
: 22 | 0.686 0.858 1.061 1.321 . . 2.508 2.819 3.119 3.505 3.792
23 | 0.685 0.858 1.060 1319 1.714 2.069 2.177 2500 2.807 3.104 3.485 3.768
24 | 0.685 0.857 1.059 1318 1711 2.064 2.172 2492 2,797 3.091 3.467 3.745
25 | 0.684 0.856 1.058 1316 1.708 2.060 2.167 2.485 2.787 3.078 3.450 3.725
26 | 0.684 0.856 1.058 1315 1.706 2.056 2.162 2479 2779 3.067 3.435 3.707
27 | 0.684 0.855 1.057 1314 1703 2.052 2.158 2473 2.771 3.057 3.421 3.690
28 | 0.683 0.855 1.056 1.313 2467 2.763 3.047 3.408 3.674
29 | 0.683 0.854 1.055 1311 2462 2.756 3.038 3.396 3.659
30 | 0.683 0.854 1.055 1310 2457 2750 3.030 3.385 3.646

40 | 0.681 0.851 1.050 1.303
50 | 0.679 0.849 1.047 1.299
60 | 0.679 0.848 1.045 1.296

2423 2.704 2971 3.307 3.551
2403 2.678 2.937 3.261 3.496
2390 2.660 2915 3.232 3.460

80 | 0.678 0.846 1.043 1.292 2374 2.639 2.887 3.195 3.416
100 | 0.677 0.845 1.042 1.290 i 2364 2.626 2.871 3.174 3.390
1000| 0.675 0.842 1.037 1.282 1.646 1962 2.056 2330 2.581 2.813 3.098 3.300
; b4 0.674 0.8341 1.036 1282 1.645 1.960 2.054 2.326 2.576 2.807 3.091 3.291
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A
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30

40

60

120

161.4

199.5

215.7

224.6

230.2

234.0

236.8

238.9124055[241.9]b439|245.9]248.0

249.1

250.1

251.1

2522

253.3

2543

18.51

19.00

19.16

19.25

19.30

19.33

19.35

19.37}19.38|19.40] 19.41]19.43| 19.45

19.45

19.46

19.47

19.48

19.49

19.50

10.13

9.55

9.28

9.12

9.01

8.94

8.89

8.85| 8.81) 8.79| 8.74| 8.70] 8.66

8.64

8.62

8.59

8.57

8.55

8.53

7.71

6.94

6.59

6.39

6.26

6.16

6.09

°6.04{ 6.00] 5.96| 5.91} 5.86| 5.80

5.77

5.75

3.72

35.69

5.66

5.63

6.61

5.79

541

5.19

5.05

4.95

4.88

4.82] 4.771 4.74) 4.68| 4.62| 4.56

4.53

4.50

4.46

443

4.40

437

5.99

5.14

4.76

4.53

4.39

4.28

4.21

4.15] 4.10] 4.06 4.00| 3.94| 3.87

3.84

3.81

3.77

3.74

3.70

3.67

5.59

4.74

4.35

4.12

3.97

3.87

3.79

3.73] 3.68] 3.64/ 3.57| 3.51| 3.44

3.41

3.38

3.34

3.30

3.27

3.23

5.32

4.46

4.07

3.84

3.69

3.58

3.50

3.44| 3.39{ 3.35] 3.28] 3.22( 3.15

3.12

3.08

3.04

3.01

2.97

2.93

5.12

4.26

3.86

3.63

3.48

3.37

3.29

3.231.3.1813.1413.071.3.01| 2.94

2.90

2.86

2.83

2.79

2.75

2.71

4.96

4.10

3.71

3.48

3.33

3.22

3.14

2.74

2.70

2.66

2.62

2.58

2.54

3.07[13:03| 2.9812:91(|2.85] 2.77
—3

4.84

3.98

3.59

3.36

3.20

3.09

3.01

2.72{ 2.65

2.61

2.57

2.53

2.49

2.45

2.40

4.75

3.89

3.49

3.26

3.11

3.00

291

2.62{ 2.54

2.51

2.47

2.43

2.38

2.34

2.30

4.67

3.81

341

3.18

3.03

2.92

2.83

2.42

2.38

2.34

2.30

2.25

2.21

4.60

3.74

3.34

3.11

2.96

2.85

2.76

9
01]12.53{ 2.46
3[i2.46} 2.39

-2.35

2.31

2.27

2.22

2.18

2.13

4.54

3.68

3.29

3.06

2.90

2.79

2.71

2.59] 2.54{-2.4872.40] 2.33

2.29

2.25

2.20

2.16

2.11

2.07

4.49

3.63

3.24

3.01

2.85

2.74

2.66

2.59] 2.54| 2.49| 2.42{ 2.35] 2.28

2.24

2.19

2.15

2.11

2.06

2.01

4.45

3.59

3.20

2.96

2.81

2.70

2.61

2.55]2.49] 2.45] 2.38] 2,31} 2.23

2.19

2.15

2.10

2.06

2.01

1.96

441

3.55

3.16

2.93

2.77

2.66

2.58

2.51] 2.46] 2.41] 2.34| 2.27] 2.19

2.15

2.11

2.06

2.02

1.97

1.92

4.38

3.52

3.13

2.90

2.74

2.63

2.54

2.48] 2.42(2.38] 2.31]| 2.23]| 2.16

2.11

2.07

2.03

1.98

1.93

1.88

4.35

3.49

3.10

2.87

2.71

2.60

2.51

2.45] 2.39] 2.35]| 2.28| 2.20] 2.12

2.08

2.04

1.99

1.95

1.90

1.84

4.32

3.47

3.07

2.84

2.68

2.57

2.49

2.42)2.37[2.32) 2.25} 2.18} 2.10

2.05

2.01

1.96

1.92

1.87

1.81

4.30

3.44

3.05

2.82

2.66

2.55

2.46

2.4p1234] 2.30| pahe.15] 2.07

2.03

1.98

1.94

1.89

1.84

1.78

4.28

342

3.03

2.80

2.64

2.53

2.44

2.2712.20] 2.13] 2.05

2.01

1.96

1.91

1.86

1.81

1.76

4.26

3.40

3.01

2.78

2.62

2.51

2.42

1.98

1.94

1.89

1.84

1.79

1.73

424

3.39

2.99

2.76

2.60

2.49

2.40

939
2.361-2.30] 2251218 2.11] 2.03
728] 2241 2.1%6] 2.09] 2.01

1.96

1.92

1.87

1.82

1.77

1.71

4.23

3.37

2.98

2.74

2.59

2.47

2.39

1.95

1.90

1.85

1.80

1.75

1.69

4.21

3.35

2.96

2.73

2.57

2.46

2.37

2.32|2:27] 2123] 215} 2.07[ 1.99
1[1225)12220 2 h1342.06] 1.97

1.93

1.88

1.84

1.79

1.73

1.67

4.20

3.34

2.95

2.71

2.56

2.45

2.36

2.292.24] 2.19] 2.12[2.04] 1.96

1.91

1.87

1.82

1.77

1.71

1.65

4.18

3.33

2.93

2.70

2.55

243

235

2.2812.22|2.18| 2.10| 2.03| 1.94

1.90

1.85

1.81

1.75

1.70

1.64

4.17

3.32

2.92

2.69

2.53

2.42

2.33

2.2712.21|2.16]| 2.09| 2.01] 1.93

1.89

1.84

1.79

1.74

1.68

1.62

4.08

3.23

2.84

2.61

2.45

2.34

2.25

2.18| 2.12| 2.08| 2.00] 1.92 1.84

1.79

1.74

1.69

1.64

1.58

1.51

4.00

3.15

2.76

2.53

2.37

2.25

2.17

2.10) 2.04} 1.99]| 1.92| 1.84] 1.75

1.70

1.65

1.59

1.53

1.47

1.39

120

3.92

3.07

2.68

2.45

2.29

2.18

2.09

2.02} 1.96] 1.91| 1.83 1.75] 1.66

1.61

1.55

1.50

1.43

1.35

1.25

3.84

3.00

2.60

2.37

2.21

2.10

2.01

1.94] 1.88 1.83] 1.75] 1.67} 1.57

1.52

1.46

1.39

1.32

1.22

1.00
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